DATA SHEET e

QBB2P-M

ONEPOLE PRO Base Mount Multipack

QBB2P-M

Net Weight
6,46kg

Gross Weight
Palette depending on number of pieces 10-126pcs

Net Dimension

612x535x3mm

Gross Dimensions
Palette depending on number of pieces 10-126pcs

Material
Steel

Surface Treatment

Aluzink

Accessories

4 pcs M12x70 Hex Screw DIN933 galv
12 pcs M12 Hex NUT DIN934 galv

8 pcs M12x2,5 Washer DIN125A galv
8 pcs M12x3 Washer DIN9021 galv
For CC160 footplate additional:

4 pcs M12x3 Washer DIN9021 galv

O COMPLETE
EV INFRASTRUCTURE

ONEPOLE Data sheet | 2024 | www.onepole.no PRODUCED AND DESIGNED IN NORWAY 42


www.onepole.no

